

3) Find the equations of the tangent and normal to the curve $x^2 + y^2 + 3x - 11 = 0$ at the point $x=1, y=2$.

Solution

$$x^2 + y^2 + 3x - 11 = 0$$

$$x_1 = 1 \text{ and } y_1 = 2$$

$$2x + 2y \frac{dy}{dx} + 3 = 0$$

$$2x + 2y \frac{dy}{dx} + 3 = 0$$

$$2x + 3y + 2y \frac{dy}{dx} + 3 = 0$$

$$2y \frac{dy}{dx} + 3x + 3 = -2x - 3y$$

$$\frac{dy}{dx} (2y + 3x) = -2x - 3y$$

$$\frac{dy}{dx} = \frac{-2x - 3y}{2y + 3x}$$

$$m = \frac{dy}{dx} \text{ at } x=1 \text{ and } y=2 = \frac{-2(1) - 3(2)}{2(2) + 3(1)} = \frac{-2-6}{4+3} = -\frac{8}{7}$$

To find the equation of the tangent,

$$y - y_1 = m(x - x_1)$$

$$y - 2 = -\frac{8}{7}(x - 1)$$

$$7(y - 2) = -8(x - 1)$$

$$7y - 14 = -8x + 8$$

$$7y + 8x = 8 + 14$$

$$7y + 8x = 22$$

$$7y + 8x - 22 = 0$$

To find the equation of the normal,

$$m_1 m_2 = -1$$

$$-\frac{8}{7} m_2 = -1$$

$$m_2 = -1 \times -\frac{7}{8}$$

$$m_2 = \frac{7}{8}$$

$$y - y_1 = m(x - x_1)$$

$$y - 2 = \frac{7}{8}(x - 1)$$

$$8(y - 2) = 7(x - 1)$$

$$8y - 16 = 7x - 7$$

$$8y - 7x = -7 + 16$$

$$8y - 7x = 9$$

$$8y - 7x - 9 = 0$$

Name: Aladjana, Victory Abiodun.
Matriculation Number: 19/MHS01/082.
Course code: MATH 104.
Department: M.B.R.S.

Assignment IX:

Examine whether or not these pair of lines are perpendicular to each other.

① $y - 3x - 2 = 0$ and $3y + x + 9 = 0$

② $3y - 4 = 2x + 3$ and $y - 5 = x + 6$.

Solution.

1) $y - 3x - 2 = 0$ and $3y + x + 9 = 0$.
Using: $y = mx + c$; $m = \text{intercept}$.

From equation 1: $y - 3x - 2 = 0$.
 $y = 3x + 2$.

$\therefore m_1 = 3$.

From equation 2: $3y + x + 9 = 0$

$3y = -x - 9$.

$y = -\frac{x}{3} - \frac{9}{3}$

$y = -\frac{x}{3} - 3$.

$\therefore m_2 = -\frac{1}{3}$.

If the two lines are perpendicular, $m_1 \times m_2 = -1$.
Hence, $3 \times -\frac{1}{3} = -1$. \therefore The pair of lines are perpendicular.

2) $3y - 4 = 2x + 3$ and $y - 5 = x + 6$.

Using: $y = mx + c$; $m = \text{intercept}$.

From equation 1: $3y - 4 = 2x + 3$.

$3y = 2x + 3 + 4$.

$3y = 2x + 7$.

$y = \frac{2}{3}x + \frac{7}{3}$.

$m_1 = \frac{2}{3}$.

From equation 2: $y - 5 = x + 6$.

$y = x + 6 + 5$.

$y = x + 11$.

$m_2 = 1$.

If the two lines are perpendicular, $m_1 \times m_2 = -1$.

Hence, $\frac{2}{3} \times 1 = \frac{2}{3}$. \therefore The pair of lines are not perpendicular.